

Quoted By: Quote Expiration: Quote Name: Carli Minervino 8/31/24

Sales Quotation For:

Stacey Corder
North Boone Community Unit School
District 200
6248 N Boone School Rd
Poplar Grove IL 61065-8548
Stacey Corder
SCorder@nbcusd.org
Phone: +1 (815) 765-3322

Student Count:1,669 / Cost Center:0

Tyler SaaS

Description	Unit Price	Discount	Annual
Content Manager			
Content Manager Core	\$ 2,393	\$ 479	\$ 1,914
Employee Onboarding	\$ 2,050	\$ 410	\$ 1,640
School ERP Pro			
Accounting	\$ 19,879	\$ 3,976	\$ 15,903
Applicant Tracking Interface	\$ 1,100	\$ 220	\$ 880
Employee Daily Time Entry	\$ 1,502	\$ 300	\$ 1,202
Employee Reimbursement Module	\$ 1,932	\$ 386	\$ 1,546
Human Resources	\$ 3,882	\$ 776	\$ 3,106
Info-Link	\$ 1,107	\$ 221	\$ 886
Online Shopping	\$ 1,502	\$ 300	\$ 1,202

TOTAL:	\$ 38,189	\$ 7,636	\$ 30,553
Term # of Years: 3			
Identity Workforce Core [1]	\$ 0	\$0	\$0
Identity			
Substitute Calling System Time Worked Interface	\$ 1,735	\$ 347	\$ 1,388
Substitute Calling System Leave Interface	\$ 1,107	\$ 221	\$ 886

Services

Description	Quantity	Price	Extended Price	Maintenance
School ERP Pro				
Implementation	440	\$ 120	\$ 52,800	\$0
Conversions	40	\$ 120	\$ 4,800	\$0
Project Management	92	\$ 120	\$ 11,040	\$ 0
Software Install Services	32	\$ 120	\$ 3,840	\$ 0
Content Manager				
Core Services	8	\$ 120	\$ 960	\$0
Core Training	16	\$ 120	\$ 1,920	\$0
Employee Onboarding Services	12	\$ 120	\$ 1,440	\$ 0
TOTAL:			\$ 76,800	\$ 0

	One Time	Recurring
Summary	Fees	Fees
Total Tyler Software		\$ 30,553
Total Annual		\$0
Total Tyler Services	\$ 76,800	\$0
Summary Total	\$ 76,800	\$ 30,553
Contract Total	\$ 107,353	

Comments

All services quoted herein are assumed to be delivered remote unless otherwise stated.

SaaS includes up to 200GB of storage. Should additional storage be needed, it may be purchased at the current yearly storage rate in 200GB increments.

Content Manager (Core) - Full document scanning, imaging, indexing and archival.

Accounting - General Ledger, Budgeting, Check Manager, Purchase Card, Bank Reconciliation, Revenue Accounting; Procurement & Payables; Payroll; User Security & Administration; Employee Access; State Reporting, Tyler U

Applicant Tracking Interface - Integration with 3rd party applicant tracking system.

Employee Reimbursements - Online processing of employee expense reimbursements.

Human Resources - Employee demographics, certificates, evaluations, contracts, salary negotiations, and user-defined fields.

InfoLink - Provides a point-and-click interface to link tables for report writing.

Shopping Interface - Provides an interface to web purchasing.

Substitute Calling System (Leave) Interface - Interface with 3rd party timecard system (employee leave taken).

Substitute Calling System (Time Worked) Interface - Interface with 3rd party substitute calling system (substitute time worked).

Tyler's Identity Workforce currently supports the following identity providers (IdP's) for use with Tyler back-office solutions: Microsoft Active Directory through Azure AD, ADFS or Okta AD agent, Google Cloud Identity, Identity Automation RapidIdentity, and Okta. Any requirement by you to use an IdP not supported by Tyler may require additional costs, available upon request.